R ARZUE TECHNICAL SPECIFICATIONS |e1

o T e e Sy 2 Ty SRR R KR R pome w e
HE b s O & WE B BERE mekm kn  oRE EE
Output IEC Rated Full Efficiency Full-load Locked Locked Break Rated Moment Weight
Frame speed load n % Power Rotor Rotor Down torque of
current 9 factor inertia  (kg)
RM Sseries (le1)
(rpm) 400V 100 75 50 s/In A k/Mn
— — — 2-POLE/3000RPM
| — A 3 VaEN AR
,z(EﬁJ_*ET,EE}JFEEﬂﬁM /E)(‘f(—.— 0.18 63 2720 0.55 65.0* 64.5 59.6 0.73 5.5 2.2 77 0.63 = 3.9
BB
AU 0.25 63 2720 0.72 66.0* 65.6 61.4 0.76 55 2.2 2.2 0.88 s 4.4
0.33 63 2720 0.84  70.0* 70.3 67.1  0.81 6.1 22 2.2 1.30 L 4.7
THREE PHASE REMOVABLE FEET
0.37 71 2760 0.94  70.0* 70.9 68.9  0.81 6.1 2.2 2.2 1.28  0.0005 6.2
STANDARD EFFICIENCY 0.55 71 2760 133 73.0* 73.9 719 0.82 6.1 22 23 186 0.00063 6.3
0.75 71 2760 1.78 74.0 742 714  0.82 6.1 2.2 2.3 2.54  0.00076 6.5
ALUMINUM INDUCTION MOTORS
0.75 80 2845 1.76 74.0 742 714  0.83 6.1 2.4 2.5 2.52 0.00083 8.3
1.1 80 2840 2.49 76.0 76.8 75.3  0.84 7.0 2.5 2.5 3.7 0.0010 9.0
1.5 80 2840 3.35 77.0 78.1 76.6 0.84 7.0 2.5 2.5 5.04  0.0012 10.0
1.5 90S 2840 3.30 78.0 78.7 76.7 0.84 7.0 2.7 2.8 5.04 0.0012 12.5
RMSZRF$ESEHMNE =S5 EMNENN. EEAarETLRERPRN 22 90L 2840 4.67 80.0 80.8 79.5 0.85 7.0 285 2.8 7.4 0.0014 14.0
AEEKMHET. MRIBIRERIELIRE, 3.0 90LB 2840 6.22 81.0 81.4 79.4 0.86 7.0 2.5 2.8 10.09 0.00145 16.0
o _ 3.0 100L 2870 6.07 82.0 82.1 80.3 0.87 7.5 202 2.5 9.98  0.0029 20.5
WONDERf 1 =185 S FRAIAF1E 4.0 100LC 2880 7.81 84.0 84.8 84.1  0.88 7.5 2.3 2.5 13.26  0.0039 28.0
S TN ETEANMAI TSR |, di/kER , KANIE |, BRER Bl : : : : : : ’ ; : : : :
I, a8, KEMERETIL. 4.0 112M 2880 7.81 84.0 84.8 84.1 0.88 7.5 2.3 2.3 13.26  0.0050 26.0
- IPSSBRIFSES |, FRM% |, BRIBTH , SITIEH.
' ' d 5.5 112MC 2900 10.6 85.0 85.0 83.5 0.88 7.5 2.3 2.3 18.17  0.0069 33.0
- BIEEE400V, BIESZR50Hz,
AEESME  TREBIRE-20°C-40°C | ¥5H2 <10003, 5.5 132SA 2910 10.6 85.0 85.0 83.5 0.88 7.5 2.7 2.5 18.11  0.0104 40.0
- SKWRIATENAYEZESR  AkWRLL LB o EEs . 7.5 132SB 2905 14.3 86.3 86.6 856 0.88 7.5 2.2 2.4 24.66 0.0121 44.0
LA =
REIARICALL, 11 132MC 2910 20.3 87.8 87.4 859  0.89 7.5 2.7 2.4 36.10 0.0178 65.0
ZA3EH ™, MOUNTING ARRANGEMENTS 4-POLE/1500RPM
Types Basictype Derived types of construction 0.12 63 1340 0.42  57.0* 57.1 52.6 0.72 4.4 1.8 2.0 0.86 = 4.0
@) Q |
IMB3 IMV5 IM V6 IM B6 IMB7 IM B8 0.18 63 1340 0.61 58.0* 59.5 56.4 0.73 4.4 1.8 2.0 1.28 - 4.5
IM 1001 IM 1011 IM1031 IM 1051 IM 1061 IM 1071
— 0.22 63 1340 0.75 58.0* 58.4 54.7 0.73 4.4 1.8 2.0 1.57 = 4.9
M -
:D @ :EB @: U:H: 0.25 71 1345 0.75 65.0* 65.1 61.3 0.74 5.2 21 2.2 1.78 0.0011 6.1
. vis mivae : - - 0.37 71 1340 1.06 67.0* 68.2 657 0.75 5.2 2.1 2.7 2.64  0.0012 6.7
1M2001 IM201L IM2031 - IM2051 1M2061 IM2071 0.55 71 1390 1.49  71.0* 72.4 70.6 0.75 5.3 9.9 2.5 3.78 0.0016 8.2
iRes :I:U ‘iP :EU @: U:H: 0.55 80 1390 1.49  71.0* 72.4 706 0.75 5.3 22 25 378 0.0013 8.9
0.75 80 1380 1.96 72.6 73.3 712 0.76 5.3 2.3 2.5 519  0.0015 9.6
IM B34 * * * ¥ *
o Mo o1 matsn maten o 1.1 80 1390 2.76 75.7 77.3 76.1  0.76 6.0 2.3 2.5 7.56  0.0019 12.2
RMS63-132 1.1 90S 1390 2.72 75.7 77.3 76.1  0.77 6.0 2.3 2.5 7.56 0.002 12.5
:”:U :@ @: H:u: 1.5 90L 1390 3.56 78.0 79.4 783 0.78 6.0 2.3 2.5 10.31 0.003 15.0
- MVI mave 2.2 90LB 1415 4.84 80.0 80.8 79.5 0.82 7.0 2.3 2.5 14.85 0.0039 19.5
IM=001 P C e 20 100LA 1415 490 80.0 80.8 79.5 0.81 7.0 2.3 25 14.85 0.0054 19.2
RMS63-132
:EB @ 3.0 100LB 1415 6.44 82.0 82.6 81.1 0.82 7.0 2.3 2.5 20.25 0.0067 23.0 59
4.0 100LC 1430 8.29 83.9 84.6 83.5 0.83 7.0 2.3 2.5 26.71 0.0069 25.9
IM B14 IMV18 IM V19
IM 3601 IM3611  IM 3631 4.0 112M 1440 8.29 83.9 84.6 83.5 0.83 7.0 2.3 2.5 26.71 0.0091 29.0
RMS63-132 :D 5.5 112MC 1445 11.3 85.0 85.6 84.6  0.83 7.0 2.3 2.5 36.35 0.0117 37.5
5.5 1325 1445 11.3 85.0 85.6 84.6  0.83 7.0 2.3 2.5 36.35 0.0205 43.5
. - . . 7.5 132M 1445 14.9 86.4 87.0 86.3 0.84 7.0 2.3 2.5 4957 0.0296 53.5
BEAZEA T ERTIENIRENZES .
11.0 132MC 1460 21.5 87.9 87.9 86.6 0.84 7.0 2.2 2.3 71.95 0.0326 75.6

1)E () Z2EA , IEC60034-7HKREFEN.,
2)5*IMV6,IMB6,IMBSZLEE S, , Wilia#HaiA,
PIESERAEEY , MEEEEE 60034-2-1: 2007 [@EARXNKHFKE

WONDER



60

RAREHE TECHNICAL SPECIFICATIONS

i fE

WE

Output IEC

Frame

6-POLE/1000RPM

0.09 63
0.12 63
0.18 71
0.25 71
0.37 80
0.55 80
0.75 908
1.1 90L
1.5 100L
2.2 112M
3 1328
4 132MA
5.5 132MB

Rate
speed

(rpm)

860
860
860
860
885
885
915
915
920
935
960
960

960

Full
load
current
Ih(A)
400V

0.46
0.57
0.70
0.90
1.28

1.70

2.98
3.82
5.33
12
9.32

12.4

M

Efficiency
n %
% of full load
100 75 50

48.0" 43.9 34.0

51.56* 48.0 40.2

56.0* 55.9 50.5

59.0* 59.2 55.0

62.0* 61.2 56.4

65.0* 65.2 61.8

70.0 70.8 68.3

729 73.8 71.6

75.5 76.8 75.1

78.4 793 77.8

80.0 80.3 78.6

81.5 81.8 80.2

83.3 84.0 83.1

kS
Full-load
Power
factor
cos@

0.59
0.59
0.66
0.68
0.70
0.72
0.72
0.73
0.75
0.76
0.76
0.76

0.77

b

A E LR

Locked
Rotor
Current
Is/In

4.0

4.0

4.0

4.0

4.7

4.7

5.5

5.5

5.5

6.5

6.5

6.5

6.5

I ESIERAEEY , MERELEREIE60034-2-1: 2007 ( MEPS2)EiEA it kE

8-POLE/750RPM

0.09 71
0.12 71
0.18 80
0.25 80
0.37 90S
0.55 90L
0.75 100LA
1.1 100LB
1.5 112M
2.2 1328
3.0 132M

635

635

645

645

670

670

680

680

700

710

710

0.68

0.74

0.84

1.10

1.41

2.07

2.42

3.29

4.30

5.88

7.59

39.0* 35.9 29.3

48.0" 45.8 39.5

51.0° 50.5 44.7

54.0* 53.9 48.4

62.0* 61.8 57.1

63.0* 63.3 59.2

66.7 66.5 62.2

69.9 70.8 68.0

73.0 73.1 70.1

76.1 76.3 73.9

78.2 79.1 77.4

0.49

0.49

0.61

0.61

0.61

0.61

0.67

0.69

0.69

0.71

0.73

249

2.9

2.8)

2.9

3.2

3.2

4.7

5.0

5.0

6.0

6.0

iyt
WU ek
Locked
Rotor
Torque
Ms/Mn

1.9
1.9
il
1.9
2.0
2.0
2.0
2.0
2
2.2
202
2.4

2.4

LEHIRERAEEN , SEERRIBAS/NZS 1359.5.2004 ( MEPS2) B#ANMHIXE

B
WUE e B
Break Rated
Down torque
Torque
MMy

2 1.0

2 1.33
2 220

2 2.78
2.1 8299
2.4 5.94
22 7.83
2.2 11.48
228 551
2.2 2247
2.8 29.84
2.9 39.79
2.8 54.71
280 1.35
2.0 1.80
2.0 2.67
2.0 3.7

2:3 5.27
2.3 7.84
2.2 10.46
2.2 18:22
2.5 19.62
2.5 29.59
2.4  40.35

Feahfiw Ha
Moment Weight

of
inertia (kg)

J(kgm?)

= 4.5

B 5.6
0.0011 6.4
0.0012 6.5
0.0016 8.5
0.002 9.2
0.003 12.0
0.004 14.0
0.0069 19.5
0.0071 28.0
0.0274 38.0
0.0343 45.0
0.0431 54.0

= 6.5

& 7.5
0.0018 8.3
0.0021 9.0
0.0030 12.0
0.0040 15.0
0.0063 16.4
0.0097 21.8
0.012 29.0
0.029 39.0
0.038 45.0

SN2 RER B MOUNTING AND OVERALL DIMENSIONS

LB 5

Frame
size

63

71

80

90S

90L

100L

112M

1328

132M

B3 .
i@y = z
D _\DH
e c B
L
Y —KK
BS e =
F f
i@ He (e
D _\DH i A
E7 1
L T P 1
X
B35 r\\ﬁ;
F s i o
<
< 47
{6 J  [Tsa
D _\DH . -
el

>
w

%2 3% <

Mounting dimensions(mm)

A AA AB ACAD B C D DH E

100 25 122122 99 80 40 11 M4x10 23

112 26 136138109 90 4514 M5x12 30
125 30 154 15711210050 19 M6x16 40
14034.5174 175123100 56 24 M8x19 50
140 38 17417512312556 24 M8x19 50
160 39 194 196 13914063 28 M10x22 60

190 45 22422015614070 28 M10x22 60

F

4

5

6

8

8

8

8

G H

8.5 63 0£1.5 7 2-M16x1.
11 71 0x1.5 7 2-M18x1.
15.5 80 0+1.5 10 2-M20x1.
20 90 0%1.5102-M20x1.
20 90 0+1.5102-M20x1.
24 100 0+2.0 12 2-M20x1.

24 112 0+£2.0 12 2-M25x1.

216 48 256260 18514089 38 M12x28 8010 33 132 0£2.0 12 2-M25x1.

216 48 256260185178 89 38 M12x28 8010 33 132 0£2.0 12 2-M25x1.

e R=0 J9 ™ ST A T 20 4R 0 BE B .
R=0 distance from flange to shaft shoulder

o RS

Overall dimensions(mm)

L M N

P S T GA

XxYxZ(mm)

5218 115 95 140 9 3 12.5 92x92x38

5251130110160 9 3.5 16 103x103x38

5286 165130 200123.521.5110%x110x35.5

5320165130200123.5 27

11x11x35.5

5335 165130200123.5 27 110x110x35.5

537721518025015 4
539521518025015 4
5472 26523030015 4

551026523030015 4

31

31

41

41

61

110x110x35.5

144x144x44

144x144x44

144x144x44




AN ZREER~TE MOUNTING AND OVERALL DIMENSIONS B ENHE{E%)ZE MOTOR SPARE PART LIST/DRAWING

B34

2
E C B
L
Y
B14 T—“TKK
N
_ e X
bt U 1.5 17. HegigE
2485 18. i
3% IR 19. HEE
4.B5 %= 20. sz ha
5.B14 %= 21. mEES S
E 6.B3 iz 22. IR AR

L 7 EEELEERY 23.%F
8iELAaE 24. JEIRF RS
9 ELETHE 25. JEIRFhimiR =
10.EEEL S REIRZZ 26. 123
11 % SRR 27. R IR
12 L EFHE 28. jmst
13 JE& R R Rt 29. K0t
14 EF 30. KR
15.E E R R ENERR1R 22 31. NE
16. A #F ENJER D 32. BENEIREL

INGERE) % R Sh 2 R

Frame Mounting dimensions(mm) Overall dimensions(mm)  XXYxZ(mm)
size A AA AB AC AD B C D DH EF G H K L M N P S T GA

M, i = Driving End

Non driving End

. : . Qil Seal
63 100 25 12212299 80 40 11 M4X10 234 85 63 7 M16X1.521875 60 90 M5 3 12.592X92X38 Frame size Bearings Bearings

71 112 26 136 138 10990 45 14 M5X12 305 11 71 7 M18X1.525185 70 105 M6 3.516 103X103X38 63 6201 2RS/C3 6201 2RS/C3 12X $22X7
80 12530 154 157 112 100 50 19 M6X16 40 6 15.580 10 M20X1.5286 10080 120 M6 3.521.5110X110X35.5 71 6202 2RS/C3 6202 2RS/C3 15X d25%7
2 X 1. o X X35.
90S 140 34.5174 175 123 100 56 24 M8X19 508 20 90 10 M20X1.5335 11595 140 M8 3.527 110X110X35.5 80 6204 2RS/C3 6204 2RS/C3 620X $30X7
62 L 14038 174 175123 125 24 M8X19 2 10 M20X1 50 115 140 M X X 63
90 03 5123 56 8 508 20 90 10 M20Xx1.5350 95 0 M8 3.527 110X110X35.5 90 6205 2RS/C3 6205 2RS/C3 625X 3TXT
100L 160 39 194 196 139 140 63 28 M10x2260 8 24 100 12 M20X1.5377 130 110 160 M8 4 31 110X110X35.5
100 6206 2RS/C3 6206 2RS/C3 $30X $p42X7
112M 190 45 224 220 156 140 70 28 M10X2260 8 24 112 12 M25X1.5395 130 110 160 M8 4 31 144X144X44
112 6206 2RS/C3 6206 2RS/C3 $30X $p42X7
132S 216 48 256 260 185 140 89 38 M12X28 80 10 33 132 12 M25X1.5472 165 130 200 M10 4 41 144X144X44
132 6208 2RS/C3 6208 2RS/C3 $40X $58X8
132M 216 48 256 260 185 178 89 38 M12X28 80 10 33 132 12 M25X1.5 510 165 130 200 M10 4 41 144X144X44

e R=0 J9 ™ SR C A T ) iR 0 BE R .
R=0 distance from flange to shaft shoulder



